BBiql’

BIQU-B1

USER MANUAL

Shenzhen Bigtree TechnolbgWCo.,Ltd



Catalogue

1. PACKING LISt i 1
2. EQUIPMENT PArameters. ... . v ittt e e e e e e e 2
3. Installation equUIPMENt......cooiiiiiiiiiiecc e 3
4. Platform Calibration........ccocueeiiiiiiniiiieieestceeeeee e 17
4-1 Platform Calibration..........cocveeiieiieiieeeeceeeeee e 17
A-2 Fill in filament.....c.oooiieee e 21
5. REAAY 10 PriNt.ccc ettt e e e e e aaeeeeea 22
5-1 Introduction to working mode.........ccceevvieeriiiiniieinieciieeeiieene 22
5-2 Installing Driver SOftWare.........ccccevveriiiieenieniceceeeeeseeeeeee 23
5-3 Install Ultimaker Cura SOftware.........ccoocueeeeeieereee e 27
5-4 SOftware SEttings.......cccovveriiiiiiinienieeieeeeeee e 30
5-5 Usage of Ultimaker Cura Software........ccccoevveevciieicieeeniieeiee e, 34
6. STArt PriNtiNg....coiiiiiiiiiiiiie e 36
6-1 OFfline Printing...cc.cooieeiieiiiiieie e 36
6-2 ONNE Printing...c.ceeeoiiiiienieiieeiieeeeceeee et 38
7. Other FUNCLIONS. ..coiiiieeiie ettt e 40
7-1 ManUal |@VEING.....ccveeeiieeiie ettt 40
7-2 Automatic Leveling (Optional) .....cccceceevievieiiciecieieeeeeeeieeies 43
7-3 Intelligent filament detection Sensor Module (Optional)............ 45
7-4 MOAEI PreVIEW. ...ce ittt 47
7-5 Marlin Operating System.........covviviiriiiiiinieniccecececee e 54
8. TroUbIESHOOTING. ... .eeeeeieeiee e ere e 56

S I 011 (o] o 1T PO 60



Bseiqu’

1. Packing List

BIQU-B1 USER MANUAL

Wrench and screw

Diagonal pliers

bag (1pcs)
(1set)
| OO
S i
BIQU-BI1 TF card and card Nozzle
(1pcs) reader (lset) (2pcs)
AR : I
Power cable Rack BLtouch stand
(1pces) (1pcs) (1pcs)
"™
u?% > —
o
Data cable Filament for test Cable tie
(1pcs) (45g) (5pcs)




2. Equipment parameters

The basic parameters

Printer Name BIQU-B1

Printing Size 235 x235x 270mm
Molding Tech FDM

Nozzle Quantity 1 PCS

Layer Thickness 0.lmm - 0.3mm
Nozzle Diameter Standard 0.4mm
Printing Accuracy +0.05mm
Filament PLA

Slicing Format STL / OBJ/ AMF

Connecting Method Via data cable / TF card / USB
Slicing Compatible With Cura / Repetier-Host / Simplify 3D
Rated Voltage 100 - 120V /200 - 240V 50/ 60 HZ
Output Voltage 24V

Rated Power 270W

Max Temp of Hot Bed 100°C

Max Temp of Nozzle 260°C

OS compatible with Win 7 / Win 10

Maxium operating speed 180mm/s

Max Printing Speed 100mm/s

Normal Printing Speed 60mm/s

Language Transform Supported

Resume Printing

With resume printing function

Filament Run Out Detection

With filament run out detection function

WWW.BIQU.EQUIPMENT

2




Beiqu®  BIQU-B1 USER MANUAL

3. Installation equipment

Step 1

Connecting the terminal wire to the socket of the hot bed.

Step 2

There are two M5 threaded holes on the end of the 2040 aluminum

profile,which is used for mounting the M5 X 16 hex socket head screws.



1.2040 aluminum profile—length 456mm (1pcs)

2. M5 X 16 hexagon round-head screws (2pcs)
3. M5 X 10 hexagon round-head screws (2pcs)
4. M4 X 8 hexagon cup-head screws (4pcs)

WWW.BIQU.EQUIPMENT 4



Beiqu®  BIQU-B1 USER MANUAL

Step 3

1
M4 threaded 2

Facing the metal sheet part

There is a M4 threaded holes on another 2040 aluminum profile.
When installation, users make the threaded hole face the metal sheet

part.

2040 aluminum profile--length 456mm (1pcs)
M5 X 16 hexagon round-head screws (2pcs)
M5 X 10 hexagon round-head screws (2pcs)

P wnN e

M4 X 8 hexagon cup-head screws (4pcs)



Machine screw

g with the plane
otor shaft

1. T8 screw (1pcs)
2. Coupling device (1pcs)
There are machine screws inside the coupling device, which is used to

tighten the motor shaft and screw rod. The set screw is aligned with the plane

of the motor shaft when installing.

Step 5

1. M3 X6 hexagon round-head screws (4pcs)

2. Hexagonal isolation column (1pcs)

WWW.BIQU.EQUIPMENT 6



Beiqu”  BIQU-B1 USER MANUAL

Step 6

4 in 1 terminal wire

ouy = ~——— FLD terminal

i .
~——— 7 terminal
*

& =\ ~—— X terminal

——— E terminal

Mother
terminal

twuv




FLD terminal

Cable tie

E terminal

Z terminal

As shown above, installing the 4 in 1 terminal wire to its

corresponding position. Then there are two key slots on the metal

sheet part. Users can use a cable tie to fix the terminal wire through

them.

Mother termina

WWW.BIQU.EQUIPMENT

8



Beiqu®  BIQU-B1 USER MANUAL

Groove approaches

aluminum profile.

1. Eccentric nut

Awareness: As the picture, please check whether the
interfaces are loose. If they are loose, please tight the eccentric nut
with wrench and make the groove of eccentric nut approach the
aluminum profile. Pulley on eccentric nut will preload aluminum

profile. The printer will be more stable by this way.

Step 7

Connecting the terminal wire on side to the motor’s port.



Step 8

1. M5x25 hexagon cup-head screws (4pcs)
2. 2020 aluminum profile—length 323mm (1pcs)

Step 9

1. Xslider sheet (1pcs)
2. Belt (1pcs)

WWW.BIQU.EQUIPMENT 10



Beiqu®  BIQU-B1 USER MANUAL

Step 10

M4x8 hexagon cup-head screws (2pcs)
M4 boat-shape nut (2pcs)
2020 aluminum profile—length 338mm (1pcs)

P wnNPR

M5x18 hexagon cup-head screws (2pcs)
The boat-shape nut may rotate during installation. Users could

use the screws to fix it on the aluminum profile.

Step 11

Installing the belt onto the 2020 aluminum profile.

11



Step 12

1. M4 boat-shape nut (2pcs)
2. M4x8 hexagon cup-head screws (2pcs)

Notice: The boat-shape nut may rotate during installation. Users
could use the screws to fix it on the aluminum profile.

When installation, in order to tighten the pulley and the belt,

users could push the parts slowly in the X direction.

WWW.BIQU.EQUIPMENT 12



Beiqu®  BIQU-B1 USER MANUAL

Step 13

1. M3x8 hexagon cup-head screws (2pcs)

Step 14

o) ° =
- &

- e
T A WA
2

7
\

1. Feed tube (1pcs)
2. Quick connector (2pcs)

13



Step 15

Step 16

1. M4x8 hexagon round-head screws (2pcs)
2. M4 boat-shape nut (2pcs)
The boat-shape nut may rotate during installation. Users could

use the screws to fix it on the aluminum profile.

WWW.BIQU.EQUIPMENT 14



Beiqu®  BIQU-B1 USER MANUAL

Step 17

12
Ll n

e
B

N

1. Type-C data cable (1pcs) 2. Cable tie (1pcs)

As shown above, there are two key slots on the metal sheet part.
Users can use a cable tie to fix the Type-C cable through them. But
before fixing the data cable, users would better leave a certain length

at the Type-C cable's end which closes to the nozzle. It facilitates the

movement of the nozzle.
Awareness:
1.do not unplug the Type-C data cable when the machine is on.

2.The Type-C cable is customized, it can not be replaced by others.

15



Step 18

1. M4x16 hexagon round-head screws (1pcs)
2. Zaxis limit module

Fixing the Z-axis limit module on the aluminum profile by using the
M4 threaded holes and the above screws.

Awareness: Please check all the screws and make sure that they are

properly installed.

Installation Finished !

WWW.BIQU.EQUIPMENT 16



Beiqu®  BIQU-B1 USER MANUAL

4. Platform Calibration

4-1 Platform Calibration

After the installation of BIQU B1, users need to perform a platform
calibration on BIQU B1. The steps are as follows:

Step 1

1. Power switch
2. Power cord socket

Awareness: Before turning on, please check whether the
voltage mode matches your household power supply. If not, you
can select the mode by using screwdriver.

Confirming that the wiring is steady and correct. Inserting one
end of the power cord into the power cord socket and the other
end into the household power supply, and then turn on the power
switch of the machine.

Awareness: do not unplug the Type-C data cable when the

machine is on.

17



Step 2

Ready
,' T0 2 Bed .?. FO |$¢lo Fr.
—_ v

X-0.00 Y:0.00  Z:0.00
(11 @ 1nfo é
!

Menu print

Setting  Back

Movement ® 200 E 280 Home ® 200 B 280

e 4+ o~ ral
e 2=|En aa
Y Z

Home Move ABL Leveling Home X

e 0

Clicking on the touch screen homepage(D) “Menu” — Q)
“Movement” — @) “Home” — @) “z” .

The nozzle moves back to the zero point of the Z axis, which is
above the platform. Twist the 4 hand-tight nuts counterclockwise
under the hot bed so that there is a distance of 3 ~ 6mm between
the hot bed and the nozzle.

1. Hand-screw nut (4pcs)

WWW.BIQU.EQUIPMENT

18



Beiqu’®  BIQU-B1 USER MANUAL

Step 3

® 29/0 2 28/0

Movement ® 29/0 M 28/0

'.v ?ev

— —

ABL Leveling

e

Point 1 Point 2 Point 3  Ponit 4
H '

Plane test

Select from the touch screen in the previous step (1) “Back” — (2)
“Leveling” — ) “Point1” .

When the nozzle moves to the "first point" position(as shown
below ), and user put a piece of A4 paper under the nozzle. Twisting the
hand screw nut to make the nozzle just contact with the A4 paper and
that the A4 paper can move smoothly with slight friction.

19



1. Hand-screw nut (4pcs) 3. A4 paper (1pcs)
2. Nozzle-head (1pcs) 4. Nozzle (1pcs)

When users turn the hand-screw nut clockwise, the platform
will rise, and when users turn the nut clockwise, the platform will
fall.

In the same way, touch the "second point", "third point" and
"fourth point" on the screen in turn, and use the same method to
turn the hand-screw nut under the platform to manually level the

platform.

WWW.BIQU.EQUIPMENT

20



Beiqu®  BIQU-B1 USER MANUAL

4-2 Fill in filament

o i

& =

PRI

1. Extruder handle

2. Filament
Cut a bevel on filament with Diagonal pliers, Holding the handle of the
extruder while users pushing the filament into the extruder into the feed tube.

Awareness: Please check all the screws and make sure that they are

properly installed.

Calibration Finished

21



5. Ready to print

5-1 Introduction to working mode

BIQU-B1 3D printer has two working modes, offline printing mode
and online printing mode.

Offline printing : After adjusting the platform, save the slice file
generated by the slicing software in the TF card, then insert the TF card
into the TF card slot of the base, click "Print" from the main interface, and
then select the file in the TF card to print.

Online printing : Connected the computer with the 3D printer
through a data cable, using slicing software (such as Ultimaker Cura) to
control the printer. However, printing signal transmitted through the data
line may cause unstable factors such as signal interference. Therefore, it is
recommended that the customer use offline printing if possible.

—[ Offline ]—[ Insert TF card to print

BIQU-B1
au s N
3D Printer install driver software
Online to connecting PC and
printer
\_ J

~

Install Cura slicing
software and control

— the printer through
Cura slicing software

on the computer

N %

WWW.BIQU.EQUIPMENT 22




Beiqu®  BIQU-B1 USER MANUAL

5-2 Installing Driver software

& pEeEE - — ~— - =]

IEF  ERMER) =SV BEH)
e ARl 7 Mo

4.4 USER-20191120UN
> g IDE ATAJATAPI 55155
o B EsEE
> 3 nEE
b RS
b Eits
413 &0 (COM 3 LPT)
7aameEd ety 1, Right clicking

7 EEEO (COML)

T @0 (com2) # " . "
| Moo 2.Selecting "Update Driver Software

oW e /

b EE. TSI
o Pl ErREEEsEE

b EESTEERE

) R
o

) B STERE

Turn on the power of the 3D printer, and connect the computer to
the 3D printer through the data cable. Right-click "This Computer" —
"Properties" — "Device Manager", and then the window will show
above. If there is a yellow exclamation mark or question mark shown in
the box, users need to manually install the driver. If not, it means that the
driver has been installed automatically, no need to perform the following
driver installation steps.

Then follow the prompts shown above to install the driver software.

23



SRR AT

> EEIEEEFRIIRAERERIES)
Windows $SEEHHEN Internet FERATEXRBMNSTRIIERNR
#, BEFT e RER s,

2 PSS ERBREEEER)
FAEI AR,

Always install this driver software

= = - = = g
|| EHFEFHERFRE - Marlin USE Device
| RS CREREE
T MIEEEEEF
C:\Users\Administrator\Desktop) hd SUEE(R)...
[V s T D /
i
| . . .
i Finding out the Storage path of Marlin
| . .
USB Device Driver.
i > AT SN EIREIESFIEEE()
tl WFIER RS E RS Camn iR E TN | LRSeasit TR 25T
l FrEEamEFmit.
|
U
i
|
£

WWW.BIQU.EQUIPMENT

24



Beiqu”  BIQU-B1 USER MANUAL

) 1 EFEESEFLE - Marlin USB Device

IEERERERE ..

7~ Y
i Windows &2 g

® windows TR SRS

> TEEIIRAFERFRIE(N)
HEEHEEN | FEAEN B NIETRL,

> METIRAREIIR FRRRH()
REREEOEENTENER T, s S e
RS ENSEIES.

v =sm=az=o  Always install this driver]software

If the computer contains a firewall or anti-virus software, please
manually agree to install the driver.

— =)

w | EFERAERFHE - Marlin USB Serial (COMAT)

Windows BEsIhtbEFIRARER I
Windows EEsea et B et aERes:

Marlin USBE Serial

Close

25



IR EfRA) ZBN)  EEH)
e || E HD R E &S

-2 USER-20131120UN
bt IDE ATA/ATAPI 325158
) EEEE
> [ seiEss
by MEEDE
> i i
O

Qi1 BT)

Marlin USB Serial (COM47) |
FIEDHE0 (LPTL)

7 A0 (COMY)

T RO coM2)

o8 SR

o Installed successfully. There comes

> R

o U NTEEARR arandom COM name
s EE. TS

o P SEEEEsaE

b § EESTAEEE

ol SR

oM EHiRE

N ErEEms

After successfully installation, you can see a random port named

"Marlin USB Serial (com47)". 47 is a random number. Different numbers

may appear according to different PC types. (If it is the same computer

and the same printer, the port number will remain unchanged.) This port

will be used for data communication between the printer and the

computer.

Ps: Because the user's computer environment is different, after the driver

installation is complete, if there is an exclamation mark under the "port",

it means that the installation has encountered problems. At this time,

please unload this port and then install the driver again.

WWW.BIQU.EQUIPMENT

26




Beiqu®  BIQU-B1 USER MANUAL

5-3 Install Ultimaker Cura Software

E = = P
!
L is Welcome to the Ultimaker Cura
s : - 4 8.0 Setup Wizard
Ultimaker

“m r i This wizard will guide you through the installation of
M a Ultimaker Cura 4.8.0.

It is recommended that you dlose all other applications
before starting Setup. This will make it possible to update
relevant system files without having to reboot your
computer.,

Click Next to continue.

MNext > Cancel

Double click the "Ultimaker.Cura-4.8.0-win64-beta.exe" application file,
the software installation window will show above, please follow the

below illustration to install the software.

(3 Ultimaker Cura 4.8.0 Setup = *
License Agreement

Flease review the license terms before instzling Ultimaker Cura

Press Page Down to see the rest of the agreement.

| GMU LESSER. GEMERAL PUBLIC LICENSE ~
Version 3, 29 June 2007

Copyright (C) 2007 Free Software Foundation, Inc. <htip://fsf.org/>
Everyone is permitted to copy and distribute verbatim copies
of this license document, but changing it is not allowed.

This version of the GNU Lesser General Public License incorporates
the terms and conditions of version 3 of the GNU General Public
License, supplemented by the additional permissions listed below, [¥]

If you accept the terms of the agreement, dick I Agree to continue. You must accept the
agreement to install Ultimaker Cura 4.8.0.

< Back Cancel

27



G Ultimaker Cura 4.8.0 Setup =

Choose Install Location
Choose the folder in which to install Ultimaker Cura 4.8.0.

Setup will install Ultimaker Cura 4.8.0 in the following folder. To install in a different folder,
dick Browse and select another folder. Click Next to continue.

Destination Folder

Browse. ..

Space required: 552,1MB
Space available: 8. 7GE

S [

Select the location of the file installed.

G Ultimaker Cura 4.8.0 Setup =

Choose Start Menu Folder

Choose a Start Menu folder for the Ultimaker Cura 4.8.0
shortuts,

Select the Start Menu folder in which you would like to create the program's shortcuts, You
can also enter a name to create a new folder,

Accessibility ~
Accessories

Administrative Tools

AutoCAD 2014

Autodesk

Autodesk ReCap

CHITUBOX 1.6.1

KeyShot & 64

Maintenance

Microsoft SQL Server 2008

Microsoft SQL Server 2014 B

oo not create shortcuts
stem 2,51

oo ||| e

WWW.BIQU.EQUIPMENT

28



Beiqu”  BIQU-B1 USER MANUAL

(3 Uttimaker Cura 4.8 Setup = *

Choose Components
Choose which features of Ultimaker Cura 4.8.0 you want to
install,

Check the components you want to install and unchecdk the components you don't want to
install. Click Install to start the installation.

Select components to install: Ultimal

ura ~
Arduino Drivers

Install Visual Studio 2015 Redistributable
[[] open 3MF files with Cura

[] Open AMF files with Cura

[ Open CTM files with Cura

[] Open DAE files with Cura

[[] Open GLE files with Cura

[] open giTF files with Cura

Space required: 552,1MB

wsbem vz2.51

<Back || Install Cancel

G Ultimaker Cura 4.8.0 Setup =

__l g L Completing the Ultimaker Cura 4.8.0
s - E Setup Wizard
Ultimaker

Ultimaker Cura 4.8.0 has been installed on your computer,

Click Finish to dose this wizard,

Run Ultimaker Cura 4.8.0

< Back Finish Cancel

Ultimaker Cura Installation Completed!

29



5-4 Software Settings

After the installation, if users open the software for the first
time, please set the software according to the following steps.

B utmaker Cura - o x

Welcome to Ultimaker Cura

Get started

(3 Utimaker Cura - o x

User Agreement

iting, Ultimaker provides any

he quality and performance of

WWW.BIQU.EQUIPMENT 30



Beiqu”  BIQU-B1 USER MANUAL

@ Utimaker Cura ~ o x

What's new in Ultimaker Cura

4.8.0

Foran overview of the new featuresin Cura 43, pleaseseethis video:
Change log overvin:

New arrange algorithm!

forthis,and allowed aicence change.

When opening a project il pick any matching printer in
addition to ust exact match and new definition.

Help us ta improve Ultimaker Cura

ood ¢ e
Ial > ]

il 1

collcred by Ultimaker Curs wil ot ongain any persans
lormaton More plematir

ext

[ Jr——— - o x

Ultimaker A

(&)

Customize your oxperiense wih more grint profies and puges

stay et oy synaing your setup and leading & anywhere

Skip
]

31



Add a printer

| @ bimate cura

Add a printer

WWW.BIQU.EQUIPMENT

32



Beiqu”  BIQU-B1 USER MANUAL

(@ Untitled - Uttimaker Cura -

Machine Settings

BIQU B1
Printer Extruder 1

Printer Settings Printhead Settings
X with) Xmin

¥ ©epth) m Ymin

2(Height) mm| Xmax

Build plate shape ¥max

Origin at center Gantry Height
Heated bed Number of Extruders
Heated build volume

G-code flavor. Marlin v

Start G-code End Gcode

Next

3 Uniitled - Ukimaker Cura -

Eile B¢ Settings Eptensions Preferances Help

(wr ¥ sous < LA P
T |
|

tandard Qual

e —————

ILF.,,:,,
B

Software Setup Completed!

33



5-5 Usage of Ultimaker Cura Software

(3 Uttimaker Cura

File Edit Fiev Setvings Extensions Frefersnces felp

Ultimaker Cura PREPARE PREVIEW MONITOR
I BIQU B1 < leraintn < = standard Quality-0.2mm EZ 20% &l On 4+ Off #

e

ile Edit

Viev Settings Extensions Preferences fisl

Ultimaker Cura PREVIEW MONITOR

a =
1.BIQUBL  2.pLA 3, [P .

= Profiles

Default

[ infit (36

Grocgf nf
& Support
e g 0.2

Select the printer model that users has previously set and select the slice
parameters.

WWW.BIQU.EQUIPMENT 34



Bseiql’

BIQU-B1 USER MANUAL

(3 30Benchy - Ultimaker Cura

File Edit Viev Settines Extensions Preferences Felp

Ultimaker Cura
2 BIQUB1

PREPARE

Generic PLA
©.4mm Nozzle

MONITOR

<

= Standard Quality -0.2mm £ 20% &% On

(3 3DBenchy - Ultimaker Cura

File Edit Viev Settings Extensions Preferences Help
Ultimaker Cura
=4 BIQUB1

< | [0 Genericpta
0.4mm Nozzle

PREPARE

PREVIEW

<

MONITOR

(© 2 hours 20 minutes ()
— Il 14g- 461m
g Previ. Save to File
Sw 0o
>

35

Slice Completed!



6. Start Printing

6-1 Offline pr

inting

Step 1 After the slicing software finishes slicing the model, users can

start printing. First save the G-code file to the TF card after model slicing,

and then use the SD card for offline printing.

(3 30Benchy - Ultimaker Cura
File Edit Viev Settings Bxtensions Preferences fielp

Ultimaker Cura
=2 BIQU B1

PREVIEW MONITOR

PREPARE
Gen <

(@ 2 hours 20 minutes [i]

e [ LT RPPY
Previ Save to File

" FG‘
< VAT > slice document v & | Searchslice documont »
Organize v New folder = @ In % oOff #
B ThispC A Name - Date modified Type
No items match your search,

3D Objects
& Autodesk 360

[ Desktop
[% Documents
¥ Downloads
B Music
= Pictures
B Videos ol -
File name: | BB1_3DBenchy =

Save

Save Cancel
a5 L]

il ag-26Tm

Previ... Save to File

Saveastypi‘ G-code File (* gcode) |

G-code File

WWW.BIQU.EQUIPMENT

36



Beiqu®  BIQU-B1 USER MANUAL

Step 2

Put the G-code file from TF card in the card slot. (As shown in the figure)

Step 3

Connect the power cord, turn on the machine, and select on the touch
screen homepage D) “print” — ) “TFTSD” — (3) “models” , Then
select the slice file saved in the TF card. The printer nozzle and hot bed
start to heat. After warming to the target temperature, the machine will
automatically reset to zero and then start printing.

After printing is completed, the print head and hot bed will
automatically cool down. When the temperature of nozzle and hot bed

reach indoor temperature, users then can remove the model.

37



. [
Ready 29/0 28/0

»
. T0 | 1 Bed o © Qlo Fr.

<

X:0.00 Y:0.00 Z:0.00 TFT SD | onboard SD

11 O info
1] L 4

Menu print

SD: SD:

-- Installation tutorial for BIQU B1 1 CFFP Litter bear.gcode

[ .
I models CFFP_Pok é mon.gcode
-_ Setting files

& USER MANUAL

6-2 Online Printing

Step 1

The computer is connected to the 3D printer via a data cable. Insert one
end of the data cable into the USB port (as is shown below), and the other

end into the USB port of the computer.

TF Carc 'L_.‘

usB

38




Beiqu’®  BIQU-B1 USER MANUAL

Step 2

Open the slicing software. Drag the stl format model into the slicing

software window to slice the model.

(3 30Benchy - Ultimaker Cura
File Edit Jiev Settings Bxtensions Preferences fielp

Ultimaker Cura

BIQUB1

PREVIEW

PREPARE

<

MONITOR

(3 BB1_3DBenchy - Ultimaker Cura

File Edit View Settings Exeenzions Freferenc.

Ultimaker Cura

BIQU B1

A Object list
881

0.0

o= Help

PREVIEW

PREPARE

1 GenericPLA
0.4mm Nozzle

<

MONITOR

= standard Quality-02mm £S5 20% &! Oon + Off #

(O 2hours 20 minutes [i ]

Previ...

—i—y
Il 149 451
Print via USB bl

After slicing, click "Print via USB" to start online printing.

39



7. Other Functions

7-1 Manual leveling

Step 1 Choose from the touch screen homepage “Menu” — )

“Movement” — (3) “Leveling” — @ “Point1” .

= 290 & 280

Ready
. T0 | Bed '?' FO -nlo Fi: = . x

X-0.00 Y:0.00 Z:0.00 Heat/Fan | Movemeni Extrude EM. STOP

@ 1nfo
- [— 2 R 4

print - .
Gecode Custom Setting Back

Movement ® 29/0 X 28/0 Leveling ® 29/0 X 28/0

v M v v
— —_—

ABL Leveling Point 1 | Point 2 Point 3 Ponit 4

e -

Plane test

Step 2 When the nozzle moves to the "first point" position(as shown below ),

and user put a piece of A4 paper under the nozzle. Twisting the hand screw nut to
make the nozzle just contact with the A4 paper and that the A4 paper can move

smoothly with slight friction.
When users turn the hand-screw nut clockwise, the platform will rise, and when

users turn the nut clockwise, the platform will fall.

WWW.BIQU.EQUIPMENT 40



Beiqu®  BIQU-B1 USER MANUAL

In the same way, touch the "second point", "third point" and "fourth point" on
the screen in turn, and use the same method to turn the hand-screw nut under the

platform to manually level the platform.

41



Step 3 After manual leveling, you can click "Plane test" in the previous

operation interface, the printer starts printing, and the customer can
evaluate the leveling effect of the platform based on the printing effect
for the next optimization.

Leveling ® 29/0 X 28/0

k] E

Point 1 Point 2 Point 3 Ponit 4

—F
il

Plane test

The distance between the nozzle

|, |[ and the platform is appropriate,
% * ; and the extruded filaments stick to

the printing platform.

If the distance between the nozzle
and the platform becomes too long, it
’ ’ will cause the extruded filament

! I leaving printing platform. User should

| twist the nut slightly and clockwise to

raise the platform a little bit.

If the distance between the nozzle
and the platform becomes too close,
’ | it will cause damage to the nozzle

% 2 and printing platform. User should
I twist the nut slightly and clockwise to

low down the platform.

WWW.BIQU.EQUIPMENT 42



BeiQu®  BIQU-B1 USER MANUAL

7-2 Automatic Leveling (Optional)

This function may require customers to purchase BLtouch, and install
it on the BLtouch stand of the 3D printer.
Choose from the touch screen homepage 1) “ Menu” — (2)
“Movement” — 3 “ABL” — (@) “ABL” .

29/0 0 28/0

Ready
. TO 0 Bed '?' Fo| o Fr.
- v

X000 Y:0.00 Z:0.00

1) © info
o

Heat/Fan  Movement Extrude EM,

Movement ® 29/0 2 28/0

he'

—

Leveling

¢

z offset Badystep Back

Note: If users does not install BLtouch on BIQU-B1 or does not install it

properly, the touch screen will pop up a prompt window, as shown below:
® 200 B 280

robing Failed
ABL P :

s .- 0

Repeat z offset Badystep Back

43



The 3D printer starts to level automatically, the BLtouch probe
descends, and the nozzle head also descends. Until the probe touches the
first point of the platform, and the probe and nozzle start to rise. After
the first point, the nozzle-head would move above to the second point
and repeat this operation until all the 25 points on the platform are
tested.

After finishing the automatic leveling, user can click "Repeat" in the
previous operation interface, the printer starts printing, and the users can
evaluate the leveling effect of the platform based on the printing effect to
optimize the next step.

® 29/0 X 28/0

g

¢

Repeat | z offset Badystep Back

WWW.BIQU.EQUIPMENT 44



BeiQu®  BIQU-B1 USER MANUAL
7-3 Intelligent filament detection Sensor Module

(Optional)

If users has a higher pursuit, users can additionally purchase a smart
filament detection sensor module, and upgrade filament run out
detection module into an intelligent filament detection sensor module.

First, users remove the filament run out detection module from
BIQU-B1, and then installs the smart filament sensor module. Choosing
from the homepage of the 3D printer touch screen @ “Menu” — @

“Settings”— ®“Feature”— @“Page down”— ®*Filament sensor”.

Ready ady 290 B 280
. TO 1 Bed '?' FO  $¥lo Fr.
—— v

X:0.00 Y:0.00 Z:0.00

Heat/Fan Movement Extrude

13

Geode Custom | Setting

® 29/0 2 28/0
Feature ® 29/0
Hide Terminal ACK

Ov

Screen  Machine | Feature

Invert X Axis
Invert Y Axis
\\’) UART

Invert Z Axis
N~ Speed

" Auto Power
Disconnect 115200

Feature ® 29/0 X 28/0
Filament sensor SMART
Move speed(X Y Z) Fast
Start Gcode before print

End Gcode after print

Persistent Status Info




On the option of Filament Sensor if shows “SMART” indicating
that the intelligent filament detection function is turned on.

Supplements:

When the button of "Filament Sensor" shows "ON", owes to
filament run-out detection module, BIQU-B1 starts detecting filament run
out status.

When the button of "Filament Sensor" shows "intelligent", owes to
smart filament detection sensor module, BIQU-B1 starts detecting
filament-jam status.

When the button of "Filament Sensor" shows "OFF", BIQU-B1 would
neither detect filament run out nor filament-jam status.

Normally, BIQU-B1 defaults to open filament run-out detection

function.

ON Filament run out
(default) detection

Filament

SMART Filament-jam detection ]

Sensor

Neither filament run out nor

filament-jam detection

WWW.BIQU.EQUIPMENT 46



BeiQu®  BIQU-B1 USER MANUAL

7-4 Model Preview

When there are many 3D printed files in the TF card, it is difficult for
users to find the files they needed. The model preview function can help
users find their target files more quickly and directly.

The function will be described in detail below.

Step 1

Select the buttons in sequence on the touch screen: (D“Menu” — 2
“Setting” — 3 “Info”. The current screen firmware version will be
displayed on the screen: TFT35_V3.0.26.x DEC 29 2020 ( “DEC 29 2020”
represents the firmware version update date). If the current screen
firmware version date is after Jul 1st 2020, you do not have to update the
screen firmware. Otherwise, you need to update the screen firmware.
The new version of the screen firmware link is as follows:
https://github.com/bigtreetech/BIQU-B1/tree/master/Firmware

® 290 [ g
Ready %0 H 280

T0 » .
» 2 Bed (BOFO $Ho Fr

-
X-000 Y:0.00 Z:0.00 Huat,lhn Movement Extrude EM. STOP

© 1nfo

T EE R

print

Geode Custom Setting Back

Setting ® 29/0 M 28/0

> B9 oo
S Ov

Screen  Machine Feature

\ UART
N> Speed

Disconnect 115200



https://github.com/bigtreetech/BIQU-B1/tree/master/Firmware

Step 2
Download the “Bigtree3DPlugin Suit” compressed package, and then

unzip it to obtain the plug-in file with the model preview function.

The link to download “Bigtree3DPlugin Suit” compressed package is:
https://github.com/bigtreetech/Bigtree3DPluginSuit

Find the plug-in folder of Ultimaker Cura software. Then copy the
plug-in file of the model preview function of "Bigtree3DPlugin Suit" to the

plug-in folder of Ultimaker Cura software.

[4 || = | Bigtree3DPluginSuit - B X
Home Share View (7]
« “ 4 | > bigtrestech-Bigtree3DPluginSuit-master > Bigtree3DPluginuit v o) [Sserchsi. o

A Name - Date modified Tpe Size
R Bigtree3DPlugin File folder
M Desktop # BigtreeRemovableDriveOutputDevice File folder
& Dotk & Resolutionxtension File folder
|5 Documents # [ .gitignore GITIGNORE File 1KB
&) Pictures * |Z] instructions. Text Document. 1KB
= Document (E) [ 7] ticense Fie 2
step |_] README.md MD File 2KB
sl
stl
I This Plug-in file for model preview function
8 3D Objects
& Autodesk 360
| Desktop
|£] Decuments
4 Downloads
b Music
= Pictures
B videos
o Spsteam(C)
Titerns -

WWW.BIQU.EQUIPMENT 48


https://github.com/bigtreetech/Bigtree3DPluginSuit

BIQU®

BIQU-B1 USER MANUAL

« ~ { » ThisPC » Systeam (C:} » Program Files > Ultimaker Cura 3.0 » plugins |
A Name Date modified Type
v 3 Quick access
3MFReader 12/29/202 File folder
[ Desktop *
3MFWriter File folder
& Downloads AMFReader 0 File folder
Dodiierss # ConsoleLogger 12/29/202 File folder
] Pictures CuraDrive 12/29/2021 File folder

v|o | Searchpl. @

Size

The default Ultimaker Cura software plugin folder is located in:
This PC>Systeam(C:)>Program File>Ultimaker Cura 4.8.0>plugins

= Autodesk 360 GCodetizReader 12729 Hile tolder
) P )
N Desktop GCodeGzWriter 12/29/20209:52 AM File folder
GCodeProfileReader 12/20/20209:52 AM File folder
| Documents GCodeReader File folder
& Dounloads GCodeWriter File folder
b Musie ImageReader File folder
] Pictures LegacyProfileReader File folder
B Videos LocalContainerProvider 12/20/20209:52 AM File folder
e LocalFileOutputDevice 12/20/20209:52 AM File folder
s MachineSetinnsdctinn 1272872020 11:11 AM File folder
Bitems
1 & = | Bigtree3DPluginSuit - o e
Home  Share  View (2]
« « 4 || > bigtreetech-Bigtree3DPluginSuit-master » Bigtree3DPluginSuit V0| | SearchBi. o
A Name " Date modified Trpe Size
s Quick sccess
T Bigtree3DPlugin 12/20/2020 3:44 PM File folder
BigtreeRemovableDriveOutputDevice 12/20/2020 3144 PM File folder
¥ Downloads # ResolutionExtension 344 PM File folder
Documents # TT gtignore 22020 T3 PR TTIGNORE T TRE
] Pictures 9/21/2020 11:43 PM Text Document KB
. Document (E) [ ucense 9/21/2020 11:43 PM File 12Ke
asi [7] README.md 0/21/2000 11:43 PM D File 2k8
O st
l : .
Copy the plug-in file of the model
I This PC
B 3D Objects preview function:
@ Autodesk 360
I Desktop Bigtree3DPlugin
F Downlosds BigtreeRemoveableDriveOutputDevice
D Music
= ctures ResolutionExtension
B Videos
Steam(©)
Titems

49




(=] = | plugins - [m] x
Home. Share View (]
« “ |t 11 ThisPC » Systeam(C) > ProgramFiles » Ultimaker Cura 48.0 » plugins v|o) | searchpl. o
A Name Date modified Type Size o
# Quick access
e IMFReader 12/29/2020 File folder
SMFWiiter 12/29/2020 File folder
¥ Downloads # AMFReader 12/29/2020 File folder
Documents # Bigtree3DPlugin 12/20/2020 401 PM File folder
=] Pictures o+ BigtreeRemovableDriveDutputDevice 12/20/2020 401 PM File folder
= Document (E) ConsoleLogger 12/20/2020 :52 AM File folder
i CuraDrive 12/29/20209:52 AM File folder
e CurakngineBackend 12/20/2020 9:52 AM File folder
e CuraProfileReader 12/20/20209:52 AM File folder
CuraProfileWriter File folder
I This PC FileHandlers File folder
9 30 Objects FileLogger 12/20/202 File folder
P, FirmwareUpdateChecker 21297202 File folder
N Deskeop FirmwareUpdater 12/20/2020 952 AM File folder
GCodeGResder 12/29/20209:52 AM File folder
1] Dociments GCodeGaWriter 12/29/2020 9:52 AM File folder
& Downlosds GCodeProfileReader 12/29/20208:52 AM File folder
b Music GCodeReader File folder
GCodelriter File folder
ImageReader File folder
Eoeer LegacyProfileReader File folder
e | nealContainerProvider 12/29/2000 §:57 AM File folder
Slitems  3items selected
| & 1] = | plugins - o bd
Home hare _View @
« 4 [ > ThisPC » Systeam(C) > Program Files > Ultimaker Cura 480 » plugins v|o | searchpl. o
A Neme Date modified Type Size '~
# Quick access PreviewStage 12/29/2020 8:52 AM File folder
B Desktop RemovableDriveQutputDevice 12/20/2020 %52 AM File folder
& Downloads ResolutionExtension 12/20/2020 401 PM File folder
[ Documents # SentryLogger 12/29/2020 % File folder
et # SimulationView 12/29/202 File folder
g Fia DT SlicelnfoPlugin 2/29/202011:11 AM File folder
SolidView 12/20/2020 952 AM Fill folder
i s SupportEraser 12/29/2020 8:52 AM File folder
A Toolbox 12/29/20209:52 AM File folder
st Tools 12/20/202 File folder
P— TrimeshReader 12/29/202 File folder
b UFPResder 12/29/20208: File folder
8 3D Objects I
UFPWriter 12/20/2020 File folder
. Aldcdesk 360, UttimakerMachinections 12/29/2020 852 AM File folder
I Desktop UM3NetworkPrinting 12/20/2020 952 AM File folder
3 Documents UpdateChecker 12/20/20209:52 AM File folder
& Downloads USBPrinting 12/29/20209:52 AM File folder
B Music VersionUpgrade 12/20/202 File folder
‘ Views 12/29/202 File folder
X3DReader 12/29/202 File folder
B Videos -
- AmiMaterislProfile 12/20/202 File folder
- Sty i) MRayView 12/29/2020 8:52 AM File folder G

51items 3 items selected

Copy the plug-in
"Bigtree3DPlugin Suit"

software.

file of the model

preview function for

to the plug-in folder of Ultimaker Cura

WWW.BIQU.EQUIPMENT

50



Beiqu’®  BIQU-B1 USER MANUAL

Step 3

Reopen the Ultimaker Cura software, and slice the model file in stl
format. Then click the "Save as Bigtree3D format" button to save the
G-code file to the root directory of the TF card.

(3 3DBenchy - Ultimaker Cura — O X

File Edit Jiev Settings Extensions Preferences Help

Ultimaker Cura PREVIEN  MONITOR

4 BIQU B1 (4 11| GenericPLA < | ™ standardQuality-0.2mm [ 20% & On =+ Off ¢
0.4mm Nozzle

60.0x 31.0x48.0mm Slice

L (il s |

[c]

File Edit ¥iew Settings Extensions Preferences Help
i I "REVIEW VIONITOR h
Ultimaker Cura PREPARE PREVIEW MONITOR -

(i BIQU B1 < 11 GenericPLA ¢ = standard Quality-0.2mm  E¥ 20% &l On =+ Off #

0.4mm Nozzle

\ /

(© 2 hours 20 minutes [i]

y f = [l 14g - 451
Previ... Save as Bigtres v
geo




Step 4 Choose from the touch screen homepage D “Menu” — @

“Settings” — @ “Feature” — @ “Page down” — & “Page down”
— ® “Files Viewer List Mode”

Ready eady % 2910 EE 2800
. TO| 2 Bed '?' FO o Fr.
—— v

X000 Y:0.00 Z:0.00 Heat/Fan Movement Extrude EM. STOP

© 1nfo
jj 1y &

M int 2 .
il prin Geode Custom Setting Back

Setting ® 29/0 X 28/0

Feature ® 29/0 2& 28/0

>@< ‘ D D i Hide Terminal ACK [ ]

Ov

Screen  Machine | Feature Info

Invert X Axis

Invert Y Axis

=) 2, ;JpAe'ZE Invert Z Axis

. Auto Power
Disconnect 115200

Feature Feature ® 29/0 M 28/0

Filament sensor Files viewer List Mode

Move speed(X Y Z) Rotary Knob LED

Start Gcode before print LcDYBrtghtness

End Gcode after print LCD Brightness dim

Persistent Status Info @ « LCD dim 3dle Eimer

When “Files Viewer List Mode” option turns red, it means that the
machine has opened the file browsing mode.

WWW.BIQU.EQUIPMENT 52



BeiQu®  BIQU-B1 USER MANUAL

Step 5

Ready ® 29/0 2 28/0

QP 0 2w Bed FFO Lo Fr
C:/ D:/ é

X:0.00 Y:0.00 Z:0.00 TFT SD | Onboard SD U Disk

©1nfo
aE
] X L 4

Menu print

A

Bear 3DBenchy

< |2 &

Pageup  Page down back

Choose from the touch screen homepage@ “Print” —@ “TFTSD” ,
and when selecting the slice file saved in the TF card, users will see the
interface of the print file has been changed. The outputted sliced files will
display thumbnail icons, while without outputted sliced files will not
display thumbnail icons. Users could select the slice file they want to print
at a glance.

53



7-5 Marlin Operating System

BIQU-B1 has also equipped with a retro-style Marlin operating
system, users can choose their favorite operating system according to
their own preferences. Below is a brief description of the system.

Step 1 Long press the knob next to the touch screen, select "Marlin

Mode" on the left, then Marlin operating system will appear on the touch

screen.

uﬁggﬂ BIQU’

-\

Marlin mode Touch Mode

5 o

Je° ca:

X 8y B 72 94.5
FR100% 16:32

3D Printer Ready.

DUIPMENT 54



BeiQu®  BIQU-B1 USER MANUAL

Step 2 short press the knob, it will skip to the operation interface of

(@D (as shown below) And when the user turns the knob clockwise, the
option will move page down. Moving option to @”Print from Media”,
then short pressing the knob, it will skip to the operation interface of @
(as shown below). Moving down option to the file to be printed @
and short pressing the knob.

Note: In the Marlin system, turn the knob clockwise, the option will move

down. Turn the knob counterclockwise and the selection will move up.

Info Screen Motion

Motion Temperature
Tempgraturg Configuration
Configuration Change Media

Change Media Print from Media

CFFFP_Boat.gcode CFFFP_Boat.gcode
CFFFP_09.gcode CFFFP_89.gcode
CFFFP_vi.gcode CFFFP_vi.gcode

The printer nozzle and hot bed start to heat. After warming to the
target temperature, the machine will automatically reset to zero and then
start printing.

After printing is completed, the print head and hot bed will
automatically cool down. When the temperature of nozzle and hot bed
reach indoor temperature, users then can remove the model.

55



8. Troubleshooting

Question 1 R EIEE T d{oT

Printing too fast, please control the speed between 60 ~
Answer 1 | 80mm /s.

The bell pully or bell might be loosened. Tighten them
up.
The stepper motor is missing steps. The current through

the motor might be too small so that the stepper motor
doesn’t have enough torque. Increase the output
voltage from the stepper driver to increase the power of

the stepper motor.

The stepper, stepper driver and the power supply might
be overheated. Overheating might affect the
performance of steppers.

Filament leak

Question 2

The nozzle is not tightened. Heat up the nozzle
and remove the filament before

tightening the nozzle with a plier. Do not touch
the heated nozzle with your hand!

Answer 2

WWW.BIQU.EQUIPMENT 56



BeiQu®  BIQU-B1 USER MANUAL

Question 3 Difficult to install filament

Straighten the end of the filament with your
hand, and cut the very end of the

Answer 3 | filament to a 45 degrees angle with plier.

The screw on the extruder is too tight, slightly
loosen it.

Filament jam in the white filament tube, heat up
to 230 degree and remove the

jam filament.

Question 4 JRUUTCE A0

The nozzle is far away from the platform, adjust the

distance between the platform and the nozzle-head.

Insufficient cooling is possible, make sure the fan
Answer 4 | is working.

Providing a closed environment in order to keep the

temperature stable.

Reducing the printing speed and allowing enough time
to adjust the temperature change.

The line width of the first layer is widened, that is, to

increase the extrusion amount of the bottom layer.

Adding Brim support.




(o[T-3:[«J} 1M Bobbling on the top of the print

Answer 5 | Insufficient cooling is possible, make sure the fan
is working.

Top layer height is too thin, increase top layer
height in your print setting.

Question 6 Cracks and Gaps in 3D prints

Insufficient extrusion. Double check and see if
Answer 6 | there are any loosen parts in your
printer.

Make sure the diameter of your filament is
consistent.

Add some machine/motor oil on the rail to
ensure the print bed and extruder can
slide smoothly.

(o[TI-IS{l:], WAl During the printing process, the extruder emits

the abnormal sound of "Kakaka"

Might be a nozzle jam, you could use needle tools to

unblock.

Answer 7 | The quality of the printed materials is not high, you can

try another material.

The print head temperature is too high, and the
material is carbonized into small black particles. Try to

lower the printing temperature.

The torque of the feeding part needs to be adjusted.

WWW.BIQU.EQUIPMENT 58



BeiQu®  BIQU-B1 USER MANUAL

Question 8 WL HE A LS o]y

Check and see if the filament is jammed.
Answer 8 | Check and see if there is a nozzle jam.

Double check if you are using the correct layer height
and filament size setting.

You might be using low quality filament that would

often break.

Question 9 AUl

Adjust the retraction setting by 1Imm each time
and compare the result.

Change the retraction distance and retraction
Answer 9 | speed.Generally, the better range of the retraction
effect is 20 ~ 100mm / s. If you want to set the most
ideal value, you need to experiment to control
different speeds to see if the amount of wire is
reduced.

Try lowering the print temperature by 5 degrees
each time.

Lower the travel distance. Lower the distance
between each model if you are
printing multiple models a time.




9. Cautions

1. To prevent scalds, please don’t touch the nozzle or the heated bed
when the printer is printing.

2. Please don’t touch the magnet bed immediately after a print is done,
wait for the hot plate to cool down before taking the print out.

3. Place the printer on top of a rigid body, otherwise, print quality might
be affected.

4. Don’t place your hand inside the printer, avoid getting slam or pinch
by the printer.

5. Don’t use the printer over 100 hours continuously, otherwise, the
machine might overheat and cause damage.

6. For safety, people under 18 must be supervised by adult when using
the printer.

7. Don’t place the printer near flammable substance. Place your printer
at a ventilated, clean and cool environment.

8. Follow the user manual carefully. Disassemble or modify your printer
without permission might cause damage to your printer, and the user will

be responsible for all the causes.

WWW.BIQU.EQUIPMENT 60



Shenzhen Bigtree Technology Co.,Ltd

Address: 2/FBuilding B,No.9 East Area,Shangxue Technology
Park, Longgang District,Shenzhen,Guangdong,China

Tel: +86 755 3313 3143 +86 137 9898 0050
Email:  support@biqu3d.com
WEB: www.BIQU.equipment



	1.Packing List
	2.Equipment parameters
	3.Installation equipment
	4.Platform Calibration
	4-1 Platform Calibration
	4-2 Fill in filament

	5.Ready to print
	5-1 Introduction to working mode
	5-2 Installing Driver software
	5-3 Install Ultimaker Cura Software
	5-4 Software Settings
	5-5 Usage of Ultimaker Cura Software

	6.Start Printing
	6-1 Offline printing
	6-2 Online Printing

	7.Other Functions
	7-1 Manual leveling
	7-2 Automatic Leveling（Optional）
	7-3 Intelligent filament detection Sensor Module 
	7-4 Model Preview
	7-5 Marlin Operating System

	8.Troubleshooting
	9.Cautions

